

Part 1

$$1) (\sin A + \cos A)^2 = 1 + 2\cos A \sin A$$

$$\sin^2 A + 2\cos A \sin A + \cos^2 A$$

$$1 + 2\cos A \sin A$$

- I O PIDS!

$$2) \sec x (\sec x + 1) = \frac{\tan^2 x}{1 - \cos x}$$

$$\frac{\sec^2 x - 1}{1 - \frac{1}{\sec x}} \left(\frac{\sec x}{\sec x} \right)$$

$$\frac{\sec x (\sec^2 x - 1)}{\sec x - 1}$$

$$\frac{\sec x (\sec x + 1)(\sec x - 1)}{(\sec x - 1)}$$

$$\sec x (\sec x + 1)$$

$$\sec x (\sec x + 1)$$

$$\sec x (\sec x + 1)$$

- Done

$$3) \frac{\sin x}{\csc x} + \frac{\cos x}{\sec x} = 1$$

Add)

$$\frac{\sec x \sin x + \cos x \csc x}{\csc x \sec x}$$

$$\frac{\sin x}{\cos x} + \frac{\cos x}{\sin x}$$

$$\frac{\sin^2 x + \cos^2 x}{\cos x \sin x}$$

$$\frac{\sin^2 x + \cos^2 x}{1}$$

$$\sin^2 x + \cos^2 x = 1$$

- Cool Beans!

$$4) \frac{\sec^2 x - 7 \tan x + 11}{\sec^2 x - 17}$$

$$\frac{\tan x - 3}{\tan x + 4} \cdot \frac{(\tan x - 4)}{(\tan x - 4)}$$

$$\frac{(\tan^2 x) - 7 \tan x + 12}{\tan^2 x - 16}$$

$$\frac{(\sec^2 x - 1) - 7 \tan x + 12}{\sec^2 x - 1 - 16}$$

$$\frac{\sec^2 x - 7 \tan x + 11}{\sec^2 x - 17}$$

$$5) \frac{1 - \cos B}{\sin B}$$

$$\frac{\sin B (1 - \cos B)}{1 + \cos B (1 - \cos B)}$$

$$\frac{\sin B (1 - \cos B)}{1 - \cos^2 B}$$

$$\frac{\sin B (1 - \cos B)}{\sin^2 B}$$

$$\frac{1 - \cos B}{\sin B}$$

- Done

$$6) \frac{\sin A}{1 + \sec A}$$

$$\frac{\sin A \cos A}{\cos A + 1}$$

$$\frac{\sin A (\cos A)}{1 + \frac{1}{\cos A} (\cos A)}$$

$$\frac{\sin A \cos A}{\cos A + 1}$$

$$\frac{\sin A \cos A}{\cos A + 1}$$

- Done

Part II

$$1) \sin 2x = -2 \cos x$$

$$2 \sin x \cos x + 2 \cos x = 0$$

$$2 \cos x (\sin x + 1) = 0$$

$$2 \cos x = 0 \quad \sin x + 1 = 0$$

$$\cos x = 0$$

$$\sin x = -1$$

$$x = \cos^{-1}(0)$$

$$x = \sin^{-1}(-1)$$

$$x = \frac{\pi}{2} + \pi N$$

$$x = \frac{3\pi}{2} + 2\pi N$$

$$x = \frac{\pi}{2}, \frac{3\pi}{2}$$

$$2) -2(\cos^2 x - 5 \sin x + 4) = 0$$

$$-2\left(\frac{1}{2}(1 + \cos 2x)\right) - 5 \sin x + 4 = 0$$

$$-1 - \cos 2x - 5 \sin x + 4 = 0$$

$$-\cos 2x - 5 \sin x + 3 = 0$$

$$-(1 - 2 \sin^2 x) - 5 \sin x + 3 = 0$$

$$-1 + 2 \sin^2 x - 5 \sin x + 3 = 0$$

$$2 \sin^2 x - 5 \sin x + 2 = 0$$

$$(2 \sin x - 1)(\sin x - 2) = 0$$

$$2 \sin x - 1 = 0$$

$$\sin x = 2 \leftarrow \text{no solution}$$

$$\sin x = \frac{1}{2}$$

$$x = \sin^{-1}\left(\frac{1}{2}\right)$$

$$x = \frac{\pi}{6}, \frac{5\pi}{6}$$

or \dots This is a better move

$$-2(1 - \sin^2 x) - 5 \sin x + 4$$

$$-2 + 2 \sin^2 x - 5 \sin x + 4$$

$$2 + 2 \sin^2 x - 5 \sin x$$

but gets to

the same place

$$3) 5\sqrt{3} \tan x + 3 = 8\sqrt{3} \tan x$$

$$5\sqrt{3} \tan x - 8\sqrt{3} \tan x + 3 = 0$$

$$\frac{-3\sqrt{3} \tan x}{-3\sqrt{3}} = \frac{-3}{-3\sqrt{3}}$$

$$\tan x = \frac{1}{\sqrt{3}}$$

$$\tan x = \frac{\sqrt{3}}{3}$$

$$x = \tan^{-1}\left(\frac{\sqrt{3}}{3}\right)$$

$$x = \frac{\pi}{6}, \frac{7\pi}{6}$$

Part III

$$\textcircled{1} \quad \sqrt{2} \cos\left(x - \frac{\pi}{4}\right) = \cos x + \sin x$$

$$\sqrt{2} \left(\cos x \cos \frac{\pi}{4} + \sin x \sin \frac{\pi}{4} \right)$$

$$\sqrt{2} \left(\cos x \frac{\sqrt{2}}{2} + \sin x \frac{\sqrt{2}}{2} \right)$$

$$\cos x \left(\frac{2}{2} \right) + \sin x \left(\frac{2}{2} \right)$$

$$\cos x + \sin x$$

- Done

$$\textcircled{2} \quad \tan A = \frac{1 - \cos 2A}{\sin 2A}$$

$$\frac{1 - (1 - 2\sin^2 x)}{2\sin x \cos x}$$

$$\frac{2\sin A \cos A}{1 - 1 + 2\sin^2 x}$$

$$\frac{2\sin A \cos A}{2\sin^2 x}$$

$$\frac{2\sin^2 x}{2\sin A \cos A}$$

$$\frac{2\sin^2 x}{2\sin A \cos A}$$

$$\frac{\sin^2 x}{\sin A \cos A}$$

$$\frac{\sin x}{\cos A}$$

$$\tan A$$

- Done

$$3) \tan^2 \frac{B}{2} = \csc^2 B - 2 \cot B \csc B + \cot^2 B$$

$$\frac{1 - \cos\left(2\left(\frac{B}{2}\right)\right)}{1 + \cos\left(2\left(\frac{B}{2}\right)\right)}$$

$$(\csc B - \cot B)^2$$

$$\left(\frac{1}{\sin B} - \frac{\cos B}{\sin B}\right)^2$$

$$\frac{1 - \cos B (1 - \cos B)}{1 + \cos B (1 - \cos B)}$$

$$\left(\frac{1 - \cos B}{\sin B}\right)^2$$

$$\frac{(1 - \cos B)^2}{\sin^2 B}$$

$$\frac{1 - 2\cos B + \cos^2 B}{1 - \cos^2 B}$$

Done

$$\frac{(1 - \cos B)^2}{\sin^2 B}$$

$$4) \tan\left(\frac{5\pi}{4} - \theta\right) = \frac{1 - \tan \theta}{1 + \tan \theta}$$

$$\frac{\tan \frac{5\pi}{4} - \tan \theta}{1 + \tan \frac{5\pi}{4} \tan \theta}$$

$$\frac{1 - \tan \theta}{1 + \tan \theta}$$

Done

$$5) \cos 3x = \cos^3 x - 3\sin^2 x \cos x$$

$$\cos(2x+x)$$

$$\cos 2x \cos x - \sin 2x \sin x$$

$$(\cos^2 x - \sin^2 x) \cos x - 2 \sin x \cos x \sin x$$

$$\cos^3 x - \sin^2 x \cos x - 2 \sin^2 x \cos x$$

$$\cos^3 x - 3 \sin^2 x \cos x$$

- Done

$$6) \cos 2\theta = \frac{1 - \tan^2 \theta}{1 + \tan^2 \theta}$$

$$\frac{1 - \frac{1 - \cos 2\theta}{1 + \cos 2\theta}}{1 + \frac{1 - \cos 2\theta}{1 + \cos 2\theta}}$$

$$\left(\frac{1 + \cos 2\theta}{1 + \cos 2\theta} \right)$$

$$\frac{1 + \cos 2\theta - (1 - \cos 2\theta)}{1 + \cos 2\theta + (1 - \cos 2\theta)}$$

$$\frac{1 + \cos 2\theta - 1 + \cos 2\theta}{1 + \cos 2\theta + 1 - \cos 2\theta}$$

$$\frac{2 \cos 2\theta}{2}$$

$$\cos 2\theta$$

$$\cos 2\theta$$

- Done